B J\ R 60757
— R (R 1)

( KREEIPEE 1L=77.0m )



T/ \R605 4R SRTEEHET (KAL) M E B #E x (/3
I & 2Bl 1 | pS Bfp HTEAEOHIE ERETET L HUE B =
B K £ T
i Bl T
B IR E mEL m3 167.9 170 C(SE)
B+t T
BREREE T 25mELF m3 0.9 0.9 B
EEERT
ULEmER mEL m2 185. 1 190 SL’
Etasn
T m3 255.3 260
A7 yEET
BT
FR1E wEL m3 162.9 160 E (SE)
BR C m3 77.0 80 Fu (C)
HEEIE wEL m2 54.0 54 K (SE)
WY)-b7oysFEL
$HmE7 nyhFE 1:0.4 Z=3>10cm m2 164. 4 164 SL
RARR RC-40 m3 83.6 84 G




i/ \ k605 % SRMSHAT (KBFHL) W E B BE £ 273
T 7 E Al | BB B  HEBEOHE ERETET EUE wm =
Ximarv)—+k o ck=18N/mm2 m 75.5 76
AEIVV—F 0 ck=18N/mm2 m 15.5 16
AT H300 B520 m 75.5 16
15/hOlLtT H=3. Om>k j& & A 1.0 1
25/hOLtT H=3. Omk i B 1.0 1
15EYT H=3. Om=& % & A 1.0 1
25HEYT H=3. Omk i B 2.0 2
T
A @ 350 4% m2 3.9 4
RIRLT
e t=5cm m 7.6 8
SHEAREE L t=5cm m2 2.5 3
WET
HEHE
xETL AC-20 t=5cm m2 3.9 4 W1
g T M-30 t=10cm m2 3.9 4 W2
fREx T
KETL




TE/\R60S 5 SRTEHET (KAaFmitt) B E K B x @Q3/3)

T & E Al oAl ROE B  FEAEOHIE RETET L&E =
R T XETDS & 0.5 1
MR T XETDS E 1.9 2
ERET m 92.5 93
Ll HEK T Gl 1.0 1

KEBH H 19.5 20




MiE/\ X605

=R EHET (K&#HithL)

g V=(IF<LE) /1.2
* KB+ D5 :V=1. 0(m3/L)

#EEIT BiT
HmERl C(SE) (MWEXL) : = 167.9 0.9/0.9+77=78.0 BREREE 1 :B1-1 (2. 5msk i) = 0.9
G alu
WHWERIE ECSE) (BEL) = 162.9 =H 0.9
330.8-(0.9/0.9)-77=252. 8
ait: 2C= 330. 8 E¥ExrT
HE  FUOG = 11.0
RALEE = 77.9
X B xx 0o 5 B X
B B % g ([FESLE » B B £ = 252. 8
MmEL 1 R#HE 0.8 1.0 » M OBH L = 2.5
2 LRt 1.7 2.0 Riun&is = 255.3
& &t 3 2.5 3.0




% % HiE/\X60E& SRTEBET (KAFhL) TT - EEmIEER
&7 8 7 & B = Kz
&t
& Bl T B AR EI wEL m3 167.9 167.9  C(SE)
+ 22 i FREREE L 2.5mkiH m3 0.9 0.9 B1-1
T
FEEHERI UL EEER wEL m2 185.1 185.1 SL’
] EELT PR wEL m3 162.9 1629  E(SE)
f'uqi:} 1B c m3 77.0 770 Fu(C)
I EmEIE mEL m2 54.0 540  K(SE)
fé S 5cm m 76 7.6
L | SREERL 5cm m2 25 25 C(As)
T




% * 118 /\ R605 #7 ERMEHET (R L) JOyvVEIEE®
a5 @5 e B HE s
&5t
avyy—rJovsiE HEIJAYY 104 Ea10cm m2 164.4 1644  SL
E PN RC-40 m3 83.6 836 G
3 Kigary)—k 0ck=18N/mm2 m 755 75.5
3 FHEIY)—k Ock=18N/mm2 m 755 755
| ERT 0 ck=18N/mm2  H300 B520 m 755 75.5
;‘ 15/hOET H=3.0mXKi# &R 1.0 1.0
3 25/hALET H=3.0mXKi& & 1.0 1.0
é 15HEYT H=3.0mXKi# &R 1.0 1.0
L 25 YT H=3.0mxKi#  @&FT 2.0 2.0
Eft T a1 @ 35041 m2 3.9 3.9
s | TRI7IVAERE xET AC20 t=5cm m2 3.9 3.9 W1
:d:‘:Et AT M-30 t=10cm m2 3.9 3.9 w2




# & TE/\R60SHR =RASMET (RO L) HEMHES
. G (SE) - kI B: BAFR T SL' =B (11 8) "
BB WE Py S|P B¢ WE Py IR OB AR ) EHE IS B OWE TN w

ST 0.0 — 3.3 —- — — — 2.8 —- —
ST 12.0 | 12.0 1.1 220 26.4| 12.0 12.0 2.1 2.45 29.4
ST 22.0 | 10.0 2.2 1.65 16.5 | 10.0 10.0 2.4 225 22.5
ST 32.0 | 10.0 4.1  3.15  31.5 | 10.0 10.0 2.5 245 24.5
ST 41.5 9.5 2.7 3.40 32.3 9.5 9.5 2.5 250 23.8
ST 44.5 3.0 2.6 2.65 8.0 3.0 3.0 2.6  2.55 1.1
ST 61.0 | 16.5 1.1 1.85 30.5| 16.5 0.0 —— —— 16.5 2.5 2.5 421
ST 68.0 1.0 1.0 1.05 1.4 1.0 0.1 0.0 0.4 1.0 1.6 205 14.4
ST 71.0 9.0 2.4 170 15.3 9.0 0.0 0.05 0.5 9.0 3.0 230 20.7

&&t 167.9 0.9 185. 1




K(SE) : EEEIE

A =
) PR OBt BRE 0 Ty T |IF OBE O ME 0 Ty R [IF OB 08 Ty  EiE [ OB Ty EE )
ST 0.0 — 2.2 — — — 1.0 — — — 0.7 —- —
ST 12.0 | 12.0 2.1 215 25.8| 12.0 1.0 1.00 12.0] 12.0 0.7 0.70 8.4
ST 22.0 | 10.0 2.1 210 21.0| 10.0 1.0 1.00 10.0 | 10.0 0.7 0.70 1.0
ST 32.0 | 10.0 1210 21.0] 10.0 1.0 1.00 10.0 ] 10.0 0.7 0.70 1.0
ST 41.5 9.5 2.1 2.10  20.0 9.5 1.0  1.00 9.5 9.5 0.7 0.70 6.7
ST 445 | 3.0 2.1 2.10 6.3 3.0 1.0  1.00 3.0 3.0 0.7 0.70 2.1
ST 61.0 [16.5 2.1 210 34.7 | 16.5 1.0 1.00 16.5 | 16.5 0.7 0.70 11.6
ST 68.0 | 7.0 2.1 210 14.7 1.0 1.0  1.00 1.0 1.0 0.7 0.70 4.9
ST 77.0 | 9.0 2.2 215 19.4 9.0 1.0 | 1.00 9.0 9.0 0.7 0.70 6.3
A&t 162.9 11.0 94.0




£ &  THE/\R60SH SRMEMET (KBHHL) HEFEE
o & | SLiavoU—rTavoH 6: 3 KigayY— b WEaLHY— b "
BB E T EE | M W& M [P M WE  TH  EE E T

ST 0.3 — 2.5 — — — 1.4 —
ST 12.0 1.7 1.9 220  25.7 | 11.7 1.0 14.0 1.7
ST 19.7 1.7 2.0 1.95  15.0 1.7 1.0 1.7 1.7
ST 20.0 - 2. - - - 1.0 -
ST 22.0 2.0 2.0 2.00 4.0 2.0 1.0 2.0 2.0
ST 32.0 10.0 2.2 210 21.0 [ 10.0 1.1 10.5 10.0
ST 39.7 1.7 2.2 220 16.9 1.7 1.1 8.5 1.7
ST 40.0 - 2.2 — - - 1.1 -
ST 41.5 1.5 2.2 2.20 3.3 1.5 1.1 1.7 1.5
ST 44.5 3.0 2.2 2.20 6.6 3.0 1.1 3.3 3.0
ST 59.7 15.2 2.2 2.20  33.4 | 15.2 1.1 16.7 15.2
ST 60.0 - 2.2 — - - 1.1 -
ST 61.0 1.0 2.2 2.20 2.2 1.0 1.1 1.1 1.0
ST 68.0 1.0 2.2 2.20  15.4 1.0 1.1 1.7 1.0
ST 76.7 8.7 2.6 2.40 20.9 8.7 1.3 10.4 8.7

a&t 164. 4 83.6 15.5




A& EiET 1S/ ALT 28/MOLET B4 T (R) "
BB wim P WE |P OB ME  F R (95 B WiE P @ (B B O AE TN EE
ST 0.0 1.0
ST 12.0 1.7
ST 19.7 1.7
ST 20.0
ST 22.0 2.0
ST 32.0 10.0
ST 39.7 1.7
ST 40.0
ST 41.5 1.5
ST 44.5 3.0
ST 59.7 15.2
ST 60.0
ST 61.0 1.0
ST 68.0 1.0
ST 77.0 8.7 10| — 31 -— —
0.5 3.1 3.10 1.6
1.5 0.0 1.55 2.3
=1 75.5 1.0 1.0 3.9




£ £  HE/\ROSHE SRTSHAET (KAFHBE)

S
o1
—+
A
I

A & 1SEYT 25RYUIT
PR B MiE 0 ¥y  GFm |BF OB MR 0 Ty R |IF OB AR 0 FY) IR [F OB AR 0 T  ER
ST 20.0 1.0
ST 40.0 1.0
ST 60.0 1.0
&at 1.0 2.0
A & | O FRT7L MEEL BT ST (FET) W2: SR T (B8R T)
BB Bt 03 Ty EiE [F OB 08 Ty EiE [F OB 08 Ty EARE [BF OB ME 0Ty 2 ER
ST 0.0 — .1 —  — 1.1 — 0.5 — —— — 0.5 — ——
ST 0.5 0.5 0.7 0.90 0.5 0.5 0.5 0.5 0.50 0.3 0.5 0.5 0.50 0.3
ST 3.8 3.3 0.2 0.45 1.5 3.3 3.3 0.5 0.50 1.7 3.3 0.5 0.50 1.7
ST 6.5 2.7 0.2 0.20 0.5 2.1 2.7 0.9 0.70 1.9 2.7 0.9 0.70 1.9
A&t 2.5 1.6 3.9 3.9




KigaAo')—k

a> o )— k- ‘
(o ok=18N/mm2)
/ / (=)
/ / o
-/ =
Ny ¥
10m% Y
% # R ) =% W OB B
o> 2 1) — k ocK=18N/mm2 (0. 808+0.818) x1/2x0.100x 10. 000 0. 81 m3
Git) BB SHEEY 0.100x1.044x10.000 1.04 m2
it b i) 2 0.100x1.077x10.000 1.08 m2




BRAEIY)— b BulYHEitHE=E

a2 1)—
(o ck=18N/mm2)

HVERD
£ 5 BO® =1 = H B B4
a Y 49 1y — + ock=18N/mm2 0.3500%0.140x1/2x10.000 0.25 m3

i P & - SKHEEY 0.140%10.000 1.40 m2




B T HALZYH=EEHEE
arsoy—k 100
(o ck=18N/mm2)
o
S 1
8
0 OO0
o
S 100 520 ‘ 100~ EBEA
‘ (RC—40)
720
10m% Y
b1 iR % g = # = Hf
- J — k ookel8N/m2 g)ig)og&o_soouo.somo_100)x1/2xo_4zo) 114 s
il B NEIEEY (0. 300+0. 100) x 10. 000 4.00 m?2
H B A RC-40 t=100 0.720 % 10. 000 7.20 m?2




1=/A1ET BulYHEitHE=E

808 300

2800

1088
1&Em=EY

% 5 B8 L = B B Hf

39 U — b ock=18N/mm2 (0. 808+1.088) x 1/2x 2. 800 x 0. 300 0.80 m3

B B NEREEY (0. 808+1. 088) x 1/2x 2. 800 2.65  m2

it # #E# B 2.800x%1.077x0. 300 0.90 m2




25/NAIET

EEDE S =

808 300
8
Q
1098

eGP
% b1 32 ¥ = = #H E Hfu
224 Y — k  ocK=18N/mm2 (0. 808+1. 098) x 1/2 x 2. 900 x 0. 300 0.83  m3
2l B NEEEY (0. 808+1.098) x 1/2 2. 900 x 2 553  m?2
t ¥ B & 2.900 x 1.077 x 0. 300 0.94  m2




1 SHEYT BuIYHEHES

808 300
"'D///
s 8
~/ <
/ N
1048
HEGEY,
% FR ROO® - = H 2 B
a9 1) — k  ocK=18N/mm2 (0.808+1.048) x1/2x2.400x0. 300 0. 67 m3
] B INEEEY (0. 808+1. 048) x 1/2 x 2. 400 x 2 4.45  m2

it # #E B 2.400x1.077%0.300 0.78 m?2




25MYT

BuIYHEHES

808 300
o/
= o
S =
~/ o
// N
1058
1EfTHY
£ b1 i ¥ = M = B
a > 49 1y — + ock=18N/mm2 (0.808+1.058) x1/2x2.500x%0.300 0.70 m3
Eit) 2 INBUREE Y (0.808+1.058) x1/2x2.500x%2 4.67 m2
it # = B 2.500x1.077x0.300 0.81 m2




KB BB DR

T i IR X S i A PEAEVESE B KRB %%
A B C=A/B
75.5%1.14/10.0=
BT g 7V —h / 3.7 m3/H 2.3 H
8.6 m3
2L )R Ty IR f‘l‘goig;él;%j%ﬁ 190.9 m2 10 m2/H 12.1 A
/N IET 2.0 &Fr 1 f&r/A 2 H
) T 3.0 &Fr 1 f&r/A 3 H
Hufr 1 LT A 2.2 m2 19 m2/H 0.1 A
oz 19.5 H
JKER B K 20 H

K B R H D% 5 L A0 TR ENE, (KK LWL+30cmbd FOERSy &5,




# % & /\ X605 #R SRTEBET (KAFHL) M

@ & | SLA¥ZU—RTAYVIR EfET BT
BE OBt AR P9 IR |BF OBE BRI Py JER O|BF OB MTE 0 Py R
ST 0.3 -— 1.7 — —
ST 12.0 | 11.7 1.5 1.60 18.7 1.7
ST 22.0 9.7 1.6 1.5 15.0 9.7
ST 32.0 | 10.0 2.1 1.8  18.5 10.0
ST 41.5 9.2 1.9 2.00 18.4 9.2
ST 44.5 3.0 1.5 1.70 5.1 3.0
ST 61.0 | 16.2 1.4 1.45  23.5 16.2
ST 68.0 1.0 1.2 1.30 9.1 1.0
ST 76.7 8.7 1.7 1.45 12,6 8.7
&at 120.9 75.5




% % & /\ X605 4R SREEHMET (KAFHL) MEHEE K&z

B A 15/hALET 25/ AT 1=EETT 25T
BB Bt MRm Yy GEAET |BR O RE MR 0 9 AT |BF OBE AR 0 ¥y @A |BF OB O ER 0 Ty @R

ST 0.0 1.0

ST 20.0 1.0
ST 40.0 1.0
ST 60.0 1.0
ST 71.0 1.0

= 1.0 1.0 1.0 2.0

BB B AR Tty A5 |BF Bt Wm0 Pty @AT |BF OB AR Tty  @AT |BF OB AR 0 Ty @A

ST 770 | — 22 —  —
0.5 22 220 1.1
1.0 00 1.10 1.1

b
_Ii!

2.2




SKEEEFE KELOSFEEHEE (FIKRIE 3 mRiH)

AT R b 1.4 [m 3HAMRERIE
PRI 0.1 |m ki
TR 1.4 [m 3SR
TUREEIREE - 0.1 |m ik
THIER : 77.5 |m
SAIERIE3.0m K i
ZERET
/—
X =
o
v 3
A N
o
v 3
T TH
ES ot
& 2
i v
Y WS
o
RoF i 2 3
T
o
v 3
S
o
_v 3
Y W
o
Ji
A -
o
Ji
XEEEDOHD
RE+ERE
0.3ml E
v KEI+ %
IKiE

@ RAFGIT
. JAIERIES. om K DS
R 0 N = (EFAKEZEL W L40. 3) X _FifAKBilE -+ (1. 08X 1. 10)
=(0.14+0.3) X 1.4+ (1. 08X 1. 10)
= 0.47

= 0.5 A

@ IR
- FTRIES. OmkHE DB S
458« N = (FHi/KIEL. W. L+0. 3) X FHiAKEEiE X 4+ (1. 08X 1. 10)
=(0.140.3) X1.4X4-+(1.08X1.10)
= 1.89

= 1.9

@ HET
- JERIE3. 0om KD HE D H
EE : L =1+2+THEEE+2+1+2+1+2+14+2+1
=1+2+77. 542+ 1+2+1+2+1+2+1
= 92.5
= 92.5m




